PORTLAND- 48"*24" /36"*24" Return Desk
NBF ~'¢5 2 ASSEMBLY INSTRUCTIONS

800-558-1010 | www.NBF.com

Congratulations on the purchase of your new Signature Series product!

COMPONENTS

(A) Desk Top -1pc (B) Frame -2pcs (C) Short Support Bar - 2pcs (D) Long Support Bar - 2pcs (E) Connector- 4pcs

R W

HARDWARE & TOOLS

(F) Screw M8*25 - 4pcs (G) Screw M8*12 - 16pcs(H) Allen Key 6mm - 1pc (1) Allen Key 5mm-1pc  (J) Screw M5+65 - 6pcs

NN

@ Flat bracket - 1pc @ Screw M5*19 - 14pcs

? Tools Required for Assembly

®

Philips Screw Driver

INSTRUCTIONS

STEP 1
STEP 2

NBF-MCRE4824/NBF-MCRE3624



NBF SIGNATURE PORTLAND-48"*24" /36"*24" Return Desk
— SERIES — ASSEMBLY INSTRUCTIONS

]
800-558-1010 | www.NBF.com

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 3 STEP 4

Left e  Right

NBF-MCRE4824/NBF-MCRE3624





